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Najdéte opacné vyrazy k uvedenym vyrazam.

D) 0.5x — 7

—(1 — 2a%2 4+ b) =

—(x2 42y —4) =

—(u? — 6uy) =

D) —(—=n +2ab) =

—~(—a—=b—-c)=

—(—1 + 2a) = —(p=—qg+r)=

—(3b + a?) = —(2y —x2=10) =

Vytknéte pfed zavorku znaménko ,,minus*.

c) 6l — 3k
—2t — 7
8 — 3y?
) —(a — 2ab) =
—(—=3 + 6xy?) =
—(uy — v?) =
—(0,3p — ¢?) =
—(6 — 8x*+y)=
(=241 =
c) —(=b) =
—(=2a — 3b) =
—(=1—=b) =
b—(—a)=

a) —3a+b= b) —2ab — ¢ =
a—>b*= X’ —y+2=
0,5a + b = 1 —3x =
—X 4 yi= 2p — q* =

Vxtknéte pred zavorku znaménko ,,minus*.

N 2a — b = . 2r — 4s =
—3x + 6y = —1=-3a+y=
1—2x+5zi ax + bx — ¢ =
—a+b= u—4v + 7 =

- /X 4+ 4x* = —3t—qg’+ 1=
X2 —y?=72= a—2c+d*=
—x—27= X — 41t + 2 =

3t —2u — 2 = Xy — 5z =
—5x — 3y = —3d — 4e =
-8 —x+z= 2a — 3b — d =

C) u4+v—c=

3 — 612 =

—3s* =t

I —u+2v

28 — 3t — v =

—8u + Sv

ab — 3c

" 4r — 3rs




